D WINM AN ———

'WHC - IS0 6432 Filhrung/ WHC - ISO 6432 Guides

)

[Speziﬁkation/ Specification ]
BohrungsgroRe/Bore Size 20 25
Temperatur/Temperature ~20~+80° C
Geschwindigkeitsbereich/
Speed Range <800 mm/s
.
LTechnische Zeichnung/Technical Drawing ]
L4
Bl L5 L6 )
= B:
3 171 L10
iz ] ) T T 5
iy ! ] . ey . 3 $ o
. L ] \ A J NP
A = ® @ ©
— 71 &l — \ u
— J—
8 - I B ad
T 2 8 a f ¢ @ - @ % 3 o o T I T
,,,,, - . B Y L %
,‘ ! I @ = 5 &
. 1 - ] I S (NN - ° @
| Il — L il — =6
| — — | L1 |
D2 18 | L9 L7 B5
12
L2+
L1+ Strok / Stroke
L2
—] D4 o
3 — | N hd
0
— — — >3]
- N
e S—o—b
Tl L7
L
1SO 6432 Cylinder
Compensator Coupling
@ | Bl B3 D3 | D4 D6 | D7 | D8 | H1 H3 12 L1 |L12 =
o || g P B4 | B5 | B6 s | o gl e & | H2 e H5 KK L1 5 L4 | L5 L6 L7 L8 | L9 L1O 1 || g 1112 2
20 | 34 58037 | 20|23 10 |550 10 | 11660 79|76 | 38 40 M8 | 139 | 63 |108 | 13 | 60 | 18 | 12 | 20 |650 [3250| 30 | 60 | 14 b
5 | 34 5837 | 20|23 10 550 10 | 11 /660 79 |76 | 38 40 | M10X125 | 139 | 65 [108 | 17 | 58 | 19 | 12 | 20 |850 [3250| 30 | 0 | 14 32
[Bestellnummer/Ordering Code
Hub
MODEL GUIDING DIA STROKE
WHC R 025 0100
p
R Bearing Guide Hub
H Type Guiding Lagerungfiihrung Kgili);rr\] g?am) Stroke
B Bushing Guide
Fiihrungsbuchse
G 27 _ <D




DwinmaNne
\WHC - 150 6432 Fithrung/ WHC - IS0 6432 Guides |

[ Spezifikation/ Specification j

BohrungsgroBe/Bore Size 32 40 50 63 80 100

Temperatur/Temperature -20~+80° C

Geschwindigkeitsbereich/
Speed Range <800 mm/s
L4
B1 Q L5 L6 B B2
— C T T /T 1
M 1 I 1 I
S8 ’ a o0 o hy/ ® © @
e I—— — o 5 ©
s J - ® ® |
T T oo AP,
M
: g Y o
= o o
=3 N H O—+O—© <;
= L b . — @ ‘ ©
E i — I i ] 9@©
o b4 Bl 1 ol T
2 L3+
‘ L2+ ‘
L1+
L7
— I
o0 ¢ o
i — B T =
— |
| =
83 | < 9 o o \L@
T
bl IR
L12
L3
(1] 15015552 Cylinder
Compensator Coupling
c ‘é
@ B B3 D1 D3 D4 D6 | D7 L1112 L13 H3 | H4 | H5
mm | 03 B2 0 B4 7 D2 7 |l D5 7 | e L6 L7 | L8 L9 02 | 502 | 202 T | T2 | T3 | H1 | H2 w02 | 402 |02 | KK L1 2 13/14 L5 1

32150 | 45 | 74 [500 | 42 | M6 |11 |66 | M6 | 12 | 4 76 (110 |12 |20 |430 (325 |703 | 6 10 5 97 | 95 | 61 78 325 [M10X125 | 159 | 67+ | 94 | 125 | 24 | 15

40 | 58 | 54 | 87 (585 | 42 | M6 |11 |66 | M6 | 16 | 6 8 180 |12 |20 |110 (380 (840 |7 12 5 115 | 110 | 69 | 84 |380 |M12X125 | 169 | 75+5 | 105 | 140 | 28 | 15

50 | 70 | 63 | 104 (705 | 58 | M8 |15 |85 | M8 | 20 | 6 79 |45 |15 |29 |188 [465 |818 | 8 15 5 137 | 130 | 85 | 100 | 465 | M16X15 | 187 | 89+10 | 106 | 150 | 34 | 21

63 |8 | 8 | 119 |85 | 58 | M8 |15 |85 | M8 | 20 | 6 | 111 {130 |15 |29 |153 |565 [1050 | 8 16 5 152 | 145 | 100 | 105 | 565 | M16X1.5 | 222 | 89+10 | 121 | 182 | 34 | 21

80 | 105 | 100 | 148 1060 | 78 | M10 | 18 |11.0 | M10 | 25 8 128|150 | 20 32 (210 (720 - n 25 8 189 | 180 | 130 | 130 | 720 | M20X15 258 | 111410 | 128 | 215 | 40 27
100 | 130 | 130 | 172 (1310 | 78 | M10 | 18 |11.0 | M10 | 25 8 128 1200 | 20 32 |245 (890 = " 25 8 213 | 200 | 150 | 150 | 89.0 | M20X15 | 263 |116+10 | 138 | 220 | 40 27
[Bestellnummer/Ordering Code J
Hub
MODEL GUIDING DIA STROKE
WHC R 050 0100
R BearingGu‘i‘de Kolben (mm) Hub
H Type Guiding Lagerung filrung Piston Dia Stroke
B Bushing Guide
Fiihrungsbuchse

R



